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12 October 2023 13:09

@t’,&rmmahm Glb /P}Jcen

In (,Om et hve W](lr |n't€1’c1c,hon Il dmmn ¢ &SUPPI:‘
tenda to dc’rum uﬂlbnum f_‘)ntﬂ q+j

@de demanded = (Ql-j 80‘3?\'.&:}
Eci T)W.c- IVler\{J: deorlhj %}mce

L A s %riuz, Hhere T N0

Ungold STk |
1 1 - 60 5
2 (2) 3B M 35
3 3 20 45
4 15 55
5 65
S
"iSt-Le i& l
Eq'qhy OQ
s
Q)

O Q:l & Q i

> m\ brivm S Said to be 3*301'.& *Umj d|s’ruqun¢e Yo 9t
% &d\) Gdjuohnj 2p Yhat GT\t silibrivin %5 %estored



I ”gd\)- adjm%}\j_fsé that ar:ym*” equilibrivm 5 %estord

S

= 9% Oould be
Shable '|L Other -Hn'mj,s ove ConstanT

Quantity
Fig 7: Stable Equilibrium

K C,hcmjt T Dcn’\ﬂﬂg:& guPP\j

ﬂ ’F n @em:md = kcxdtm Othes Jf?‘\uﬂ P’iti_
' |

v

(Demond G due +o 3nc'ium
"N income -
+ curvent prig. OP ,
ﬁ D- PO Q. P
S : Of
G
L sﬁ}ef

put,

Pt
@S‘T -uvword mMovement
- Q\onj SuPpL] O
Curve

New &\ui\lb’fium : %ci %’iu- 0?.
1.

4 Q.
T &{,D‘)ria

A0 Sq ' My
\ J

-5

) 4 ' Demond



2) b i Demond
Demand & dueto 4 in Income .

Ak Pm.c OP demand 1 OQ"

Su\)?\ '-50(9
S 7l
" Sutﬁ;\én
$
pfi_g; ¥
QD * -OSL
New Ec\ ot w&
(Q_q ?mc
Q*a OQ
=
m & ru:,c
L in &q 1 %

?)] ghcrcuse N SU “3‘\)

S‘U?‘ﬂj we due 4o Impr 3‘:‘::‘03\‘

Rt Pme of, ((%% 13.3 %
S=®

/(P

“ Sur ‘)\ua
4

/pw.u \L

Newd & OA- ml-—Pr
Ec‘ P:}u %

q- Oy 0Q,

E&q. Price Y
Eq @Jm A

i




4)
=yl
13\-\— price

Dec I Svpply

dec: duc 1o Obsoleke
Tedh .
ob,

QD s 04

0 -0 '
L STIT‘UJ:‘ /Oe{mt
Mdce T

Q0L , Q5T
‘Jomi A
.V prie % O,
qi\j 309,

New EG\. ab

-

&

R
.




Simultaneous change
13 October 2023 21:05

| K Smd&umm Ohunjt ‘?ﬂ @er‘qond QSUP%

— S"m\)lr in the ame direction
I 9ne.§n demand = 3nc.in Supp
oIt

New Eal %)ﬁ(e = Old &1 %)rite.
&{Q*a & \)mm 0@;0@.
P

2. dncin demand% > 9nc.fn SUFP\:J y

Shorkage D O, 55,
—> New qu (?)hcc OP, ?‘\tj h%’{f:ﬂgpb\d ? w
~ & Ok 1. o 0@ 1 of 3

P

5. v 7
d h Demand %> 4Ln SUP‘P\\j
SmT)La
Eq./price N k)mm OP - 0P,

&g cha\L o 00-0Q, ‘r‘O\ //s



o

& Qg L fpm 0800, U\/s .
p B -
. - -
Q. 8

J \
P, ,
. mEL

> X

v

4. 1 SUPPld > 1 0 Demand

4
Sur]ﬂ__b_t_a y
Eq g)nu: 5 me 0P+ OF, 0 S
&\ @4\6’1‘ %mm 0§ JUDO@. \/ |
gi L >< It )
5/ \0' '
o By
e \‘/fl)ﬂ gUPFlj i’ \i/?ﬂ 36[\'\‘0(\,(}
Shm'\'ﬂjc

&l q]‘.bi':{t i me P - OP,
&I_ Qid J. \)mm 0‘%—’ 0Q,




N\

0 0<Q
v 3 /D%s'tb\c Oulcome When SUPP\J &derqc:nd CuYVC
8‘niL¥ N Qame  dircetion =
D Both Demond &SEP?\U T

L &g Ony*
but ohcnat inci QU '%)‘\’i(.t e uncertuin

2. Both Demand SUPP‘-J J
Ls EC( Q‘\d J ~
buk c,‘nunjf. in 'ii)rite 'S uncertain,

—  Shilk % Op postte Direchion

) T Demand = gUPPlj
4
Shortage
* Eﬂ Hrice T, l)mm OP-eOJP‘ Y O} o

e
80\ ‘zgf‘jﬁ me 00 - 00, 0 \/\/ .

o [

-

ER (3 Su%g\j ‘“? Tin @en\oﬁd
| S ¢
@&03

< JD S
Eoi Fnu T Liom OFf to O, \ /
Sa 0L d e o) 4 ﬁ({). €4 '




Coi, Fnca v L':om CIF 0 LXK,

€q ®’xa ¥ me o + od), ;

N
=
=

0 @‘Q‘

| . |
| o 4 n Demand Z 1T 1n %UPPb
Sur‘b\ua

'E:l ‘:)r-.-:c X me 0pP- OV, YD

Eq_ Q‘rd N Lrbm of-0Q, \/
p \ e :

4. T % Suép\j K Jin E)en'\qnd
S_E_‘F‘IM

&1, Simu J lror OP - OP,
&l. (Q*a dy lbmm 0@-’0@;




Q(D,

2 %JO.S_&'.'G ourcoMme  wdhen Su?alj & demand Curve
Hr n Qﬂ) Airechion

. 31‘& SJ/

b 8(1 ?mcz T

no+’nmj cerain canbe Gaid Qbout  Change in fq@*a .
Y sfr

but E'C\ D\"ILEJL/

nglhmj Cerkain Can'oe Gaid Ghovk ch in &1 @U
- Q’\lt‘ Ovef —x

IOam_Rpm -~



MCQs_15th Oct.pptx

15 October 2023 124

.
Multiple Choice Questions \_%

1) With a given supply curve, a decrease in demand causes” Sy

(a) an overall decrease in price but an increase in equilibrium quantity.
(b) an overall increase in price but a decrease in equilibrium quantity.
~(1:‘j/ an overall decrease in price and a decrease in equilibrium quantity.
(d)

no change in overall price but a reduction in equilibrium quantity.

ARG SV
%_l/hssume that consumers’ incomes and the number of sellers in the market for good A

both decrease. Based upon this information, we can conclude, with certainty, that the equilibrium:
(a) price will increase. (b) price will decrease. E‘l- é‘“‘a‘l’
(c) quantity will increase. /éd)/ quantity will decrease.
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3) supply increases in a greater proportion than demand

The new equilibrium price and quantity will be greater than the original equilibrium price and
quantity.

The new equilibrium price will be greater than the original equilibrium price but equilibrium
quantity will be higher.

The new equilibrium price and quantity will be lower than the original equilibrium price and
guantity.

The new equilibrium price will be lower than the original equilibrium and the new equilibrium
quantity will be higher.

Multiple Choice Questions

4) Assume that in the market for good Z, there is simultaneous increase in
demand and the quantity supplied. The result will be: on 5 r
a) Anincreasein equilibrium price & quantity Q ¢
b) A decreasein equilibrium price & quantity L‘C\
_Q/A’n increase in equilibrium quantity and uncertain effect on equilibrium price.
d) A decreasein equilibrium price & increase in equilibrium quantity.

o>
5) Suppose the technology for producing personal computers improves and, at the same time, individuals
Q’\‘ discover new uses for personal computers so that there is greater utilisation of personal computers.
Z Which of the following will happen to equilibrium price and equilibrium quantity? a4 D

(a) Price will increase; quantity cannot be determined.
(b) Price will decrease; quantity cannot be determined.
_/(6{ Quantity will increase; price cannot be determined.

(d) Quantity will decrease; price cannot be determined.
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6) A rise in supply and demand in equal proportion will result in:
a) Increase in equilibrium price and decrease in equilibrium quantity
b) Decrease in equilibrium price and increase in equilibrium quantity
&)~ No change in equilibrium price and increase in equilibrium quantity
d) Increase in equilibrium price and no change in equilibrium quantity

prd

'/7] Which of the following situation does not lead to an increase in equilibrium
price? Qhorlage
a) Anincreasein demand, without a change in supply
b) A decreasein supply accompanied by an increase in demand &horte e
c¢) Adecreasein supply without a change in demand Shortey¢
An increase in supply accompanied by a decrease in demand Surp\u,
—_—
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8) Suppose consumer tastes shift towards the consumption of apples. Which of
the following statements is an accurate description of the impact of this event
on the market of the apples? e
a) There is an increase in the quantity demanded of apples and in the sgg@y for
apples -
b) Thereis an increase in the deﬁand and supﬁf;,pples /
¢) Thereisan increase in the demand for apples and decreage in the supply for
pples v
There is an increase in the demand for apples and an increase in the quantity
supplied. |




